

Scribed by Maxim Rabinovich

Lecture 12

In which we (begin to) prove that the SDP relaxation exactly recovers communities in the stochastic blockmodel.

Our strategy in this lecture will be to argue that, under suitable conditions on the average internal- and external-degrees a and b in the SBM, the combinatorial solution achieves the optimum. In the next lecture, we will see that by an SDP analogue of complementary slackness, we can actually guarantee that the combinatorial solution is the *unique* solution. We begin with a review of duality theory before diving into the main argument.

1 LP and SDP duality

Duality provides a method to upper bound the optimal value of maximization problems (and lower bound the optimal value of minimization problems). In the linear case, suppose we start with a maximization LP:

$$\max c^T x \quad \text{s.t.} \quad Ax = b, \quad x \geq 0, \quad (1)$$

where $c \in \mathbb{R}^n$, $b \in \mathbb{R}^m$ and $A \in \mathbb{R}^{m \times n}$ is a matrix of constraint coefficients.

If we wanted to certify that any feasible point for this LP satisfied a certain upper bound on $c^T x$, one natural strategy is to attempt to represent c as a linear combination of the rows a_j of A . Indeed, if we managed to write $c = \sum_{j=1}^m y_j a_j$, we would necessarily get that *any* feasible point had value exactly equal to

$$\sum_{j=1}^m y_j a_j^T x = y^T Ax = b^T y.$$

Due to the non-negativity constraint on x , however, we do not need to require that c be a linear combination of the rows of A . Instead, it suffices to look for coefficients y_j such that $c \leq \sum_{j=1}^m y_j a_j = A^T y$. Any such y yields an upper bound on the optimum of $b^T y$. The problem of finding the optimal lower bound by this method is also an LP, given by:

$$\min b^T y \quad \text{s.t.} \quad A^T y \geq c. \quad (2)$$

In the language of duality theory, (1) is the *primal* program and (2) is the *dual*.

The informal argument we sketched above can be formalized as the following chain of inequalities to prove that the value of the dual (2) is an upper bound on the value of the primal (1). Indeed, if $x \in \mathbb{R}^n$ is primal feasible and $y \in \mathbb{R}^m$ is dual feasible, then

$$c^T x \leq \left(A^T y \right)^T x, \quad (3)$$

$$= y^T A x \quad (4)$$

$$= y^T b \quad (5)$$

$$= b^T y, \quad (6)$$

and the claim follows.

A similar construction can be defined for SDPs. To see how this works, let \cdot denote the matrix inner product on $\mathbb{R}^{n \times n}$. That is, $M \cdot M' := \sum_{i,j} M_{ij} M'_{ij}$. An SDP can then be expressed as

$$\begin{aligned} \max C \cdot X, \quad \text{s.t. } & A^{(j)} \cdot X = b_j, \quad 1 \leq j \leq m, \\ & X \succeq 0 \end{aligned}$$

where the matrices $A^{(j)} \in \mathbb{R}^{n \times n}$ and the notation $M \succeq M'$ is understood as meaning that $M - M'$ is a PSD matrix.

We can attempt to port over the idea of the LP dual to this new setting as follows:

$$\min b^T y \quad \text{s.t.} \quad \sum_{j=1}^m y_j A^{(j)} \succeq C. \quad (7)$$

We now prove that in fact this construction yields weak duality in the sense that the optimum of (7) is an upper bound on the optimum of (3).

For this, again suppose $X \in \mathbb{R}^{n \times n}$ is primal feasible and $y \in \mathbb{R}^m$ is dual feasible (that is, feasible for (7)). We then observe that

$$\begin{aligned} b^T y &= \sum_{j=1}^m y_j b_j \quad (8) \\ &= \sum_{j=1}^m y_j \left(A^{(j)} \cdot X \right) \\ &= \left[\sum_{j=1}^m y_j A^{(j)} \right] \cdot X. \end{aligned}$$

Now the only question is, how do we relate $\left[\sum_{j=1}^m y_j A^{(j)} \right] \cdot X$ to $C \cdot X$ given that $\left[\sum_{j=1}^m y_j A^{(j)} \right] \succeq C$? The following lemma answers this question for us.

Lemma 1 Suppose $A, B \in \mathbb{R}^{n \times n}$ are PSD. Then $A \cdot B \geq 0$.

PROOF: Recall that we may write $A = \sum_{k=1}^n \lambda_k v_k v_k^T$, where each $\lambda_k \geq 0$ and the v_k form an orthonormal basis for \mathbb{R}^n . By linearity of the matrix inner product, we then have

$$A \cdot B = \sum_{k=1}^n \lambda_k \cdot \left(v_k v_k^T \cdot B \right).$$

But now we notice that

$$\begin{aligned} v_k v_k^T \cdot B &= \sum_{i=1}^n \sum_{j=1}^n v_{k,i} v_{k,j} \cdot B_{ij} \\ &= v_k^T B v_k \geq 0. \end{aligned}$$

Since each $\lambda_k \geq 0$, we conclude that $A \cdot B \geq 0$, as required. \square

Applying the conclusion of Lemma 1 to the result of the chain of inequalities (8), we find

$$b^T y \geq \left[\sum_{j=1}^m y_j A^{(j)} \right] \cdot X \geq C \cdot X.$$

Taking a minimum over the LHS and a maximum over the RHS yields the comparison of optima that we sought.

Duality is a powerful tool worth becoming more familiar with. To this end, a nice exercise is the following.

Exercise 1 Use SDP duality to prove that the value of the GW relaxation of MAXCUT is $\leq |E|$ for any graph.

2 Duality for the SBM

To see how duality can help us with the SBM, let's first rewrite the SDP relaxation of the minimum balanced cut problem in a way that looks more like the SDP we analyzed above. Our starting point is the original formulation

$$\begin{aligned} \min \sum_{\{i, j\} \in E} \frac{1 - \langle x_i, x_j \rangle}{2} \quad \text{s.t.} \quad & \|x_i\|_2^2 = 1, \quad 1 \leq i \leq n, \\ & \left\| \sum_{i=1}^n x_i \right\|_2^2 = 0. \end{aligned} \tag{9}$$

We aim to rewrite this problem in terms of a matrix variable $X \in \mathbb{R}^{n \times n}$. Intuitively, the correspondence between that variable and the given variables will be $X_{ij} = \langle x_i, x_j \rangle$.

Now, notice that the objective can be rewritten as

$$\begin{aligned} \sum_{\{i, j\} \in E} \frac{1 - \langle x_i, x_j \rangle}{2} &= \frac{|E|}{2} - \frac{1}{2} \sum_{i, j} A_{ij} \langle x_i, x_j \rangle \\ &= \frac{|E|}{2} - \frac{A \cdot X}{2}, \end{aligned}$$

Thus, up to a translation and scaling that does not change the location of the optimal solution, we may replace minimization of the given objective by maximization of $A \cdot X$, as required for an SDP. We then note that

$$\|x_i\|_2^2 = \langle x_i, x_i \rangle = X_{ii},$$

so the norm constraints can be replaced by constraints of the form

$$E_{ii} \cdot X = 1,$$

where E_{ii} is the matrix with a one in cell (i, i) and zeros everywhere else. Finally, we notice that

$$\begin{aligned} \left\| \sum_{i=1}^n x_i \right\|_2^2 &= \sum_{i=1}^n \sum_{j=1}^n \langle x_i, x_j \rangle \\ &= J \cdot X, \end{aligned}$$

where J is the all-ones matrix.

We have thus found our way to the following formulation of the SDP relaxation:

$$\begin{aligned} \max A \cdot X \quad \text{s.t.} \quad & E_{ii} \cdot X = 1, \quad 1 \leq i \leq n \\ & J \cdot X = 0, \\ & X \succeq 0. \end{aligned} \tag{10}$$

We note that in the notation of (3), we can let the constraint index run from 0 to n and set $A^{(0)} = J$ and $A^{(j)} = E_{jj}$ for $1 \leq j \leq n$. The constraint vector is then $b = (0 \ 1^n) \in \mathbb{R}^{n+1}$.

Putting it all together, we find that the dual can be written as:

We are now in a position to write down the dual. For convenience in what follows, we shall view the dual variable as $(y_0 \ y) \in \mathbb{R}^{n+1}$, so the notation will be slightly different from the dual formulation (7). In the modified notation, we have

$$\min \sum_{i=1}^n y_i \quad \text{s.t.} \quad \text{diag}(y) + y_0 J \succeq A, \tag{11}$$

where for any vector $v \in \mathbb{R}^n$, $\text{diag}(v)$ denotes the corresponding diagonal matrix whose entry at (i, i) is v_i .

3 Exact Reconstruction in the SBM—Part I

Our aim is to prove the following theorem. As usual, $a = \frac{pn}{2}$ is the average internal degree and $b = \frac{qn}{2}$ is the average external degree.

Theorem 2 *There exists a universal constant $c > 0$ such that whenever $a - b > c\sqrt{\log n}\sqrt{a + b}$, the solution of the SDP relaxation (10) is given by $\chi\chi^T$. In particular, solving the SDP relaxation yields exact recovery in the SBM in this regime.*

3.1 A candidate dual certificate

The main idea behind our proof is that we already know a primal feasible solution to the SDP relaxation (10). Indeed, we can just set

$$X_{ij} = \begin{cases} 1 & \text{if } i \text{ and } j \text{ are in the same community,} \\ -1 & \text{otherwise.} \end{cases} \quad (12)$$

Clearly $X_{ii} = 1$ for all $1 \leq i \leq n$ and $J \cdot X = 0$ because the communities have the same size. Meanwhile, $X = \chi\chi^T$, where χ is the indicator of the cut, so it is also PSD. Thus, it is a feasible point for the primal SDP (10) and corresponds to the optimum of the unrelaxed combinatorial problem.

Our aim is to show that actually the feasible solution (12) is the unique optimal solution. The first step toward this goal is to show that it is in fact optimal, and we shall do this by exhibiting a dual solution whose dual objective value is equal to the primal value of the combinatorial solution.

Notice that the value of the combinatorial solution in the primal is given by

$$\begin{aligned} A \cdot X &= \sum_{i=1}^n \left[\sum_{j \text{ in same community as } i} A_{ij} - \sum_{j \text{ in other community}} A_{ij} \right] \\ &= \sum_{i=1}^n (a_i - b_i), \end{aligned}$$

where a_i is the within-community (or internal-) degree of i and b_i is the cross-community (or external-) degree of i .

A candidate for a dual solution with the same objective value is thus given by taking

$$y_i = a_i - b_i, \quad 1 \leq i \leq n, \quad \text{and} \quad y_0 = \frac{a + b}{n}, \quad (13)$$

where the latter only matters for feasibility and not the objective value. We stress that this vector is actually a random variable, since the a_i and b_i are random quantities.

It is clear by inspection that (13) specifies dual variables that achieve the value of the combinatorial solution (12). The only question is whether this specification of the variables yields a dual feasible point. The main thrust of the proof is thus to show that, with high probability, the proposed dual solution is indeed feasible—and therefore optimal, since it achieves a primal feasible value of the objective function.

3.2 Proving that the certificate is dual feasible

Feasibility of the proposed dual certificate is equivalent to the positive definiteness condition

$$M := \text{diag}(y) + y_0 J - A \succeq 0.$$

We shall actually prove a stronger statement that will be useful for the complementary slackness part of the proof. We intend to show that (a) $M\chi = 0$ with probability 1, where again χ is the indicator of the cut and that (b) $x^T M x > 0$ for all nonzero $x \perp \chi$ with high probability.

The first statement (a) we shall directly verify below. The second (b) will follow from a matrix concentration argument: we shall show that apart from one eigenvalue of 0 corresponding to χ , the eigenvalues of $\mathbb{E}[M]$ are all $a - b$ and we will then argue that with high probability $\|M - \mathbb{E}[M]\|_{\text{op}} \leq O(\sqrt{\log n} \sqrt{a+b})$, which will yield the theorem when $a - b > c\sqrt{\log n} \sqrt{a+b}$ for a suitable absolute constant $c > 0$.

To verify that $M\chi = 0$ with probability 1, we compute

$$\begin{aligned} M\chi &= \text{diag}(y) \cdot \chi - A\chi + J\chi \\ &= \text{diag}(y) \cdot \chi - A\chi, \end{aligned}$$

where we have used balance to deduce $J\chi = 0$. We now observe that

$$(\text{diag}(y) \cdot \chi)_i = (a_i - b_i)\chi_i,$$

while

$$\begin{aligned} (A\chi)_i &= \sum_{j=1}^n A_{ij}\chi_j \\ &= \chi_i \sum_{j=1}^n A_{ij}\chi_i\chi_j \\ &= (a_i - b_i)\chi_i, \end{aligned}$$

where we have used the fact that $\chi_i\chi_j = 1$ if i and j are in the same community and -1 otherwise. Thus, $\text{diag}(y)\chi = A\chi$ and the claim follows.

On the other hand, we observe $\mathbb{E}[y_i] = \mathbb{E}[a_i - b_i] = a - b$ for $1 \leq i \leq n$. Thus,

$$\begin{aligned} \mathbb{E}[M] &= (a - b) \cdot I + \frac{a + b}{n} \cdot J - \mathbb{E}[A] \\ &= (a - b) \cdot I + \frac{a + b}{n} \cdot J - \frac{a + b}{n} \cdot J - \frac{a - b}{n} \cdot \chi\chi^T \\ &= (a - b) \cdot I - \frac{a - b}{n} \cdot \chi\chi^T. \end{aligned}$$

It is now clear that χ is in the nullspace of $\mathbb{E}[M]$ (as it must be since it is in the nullspace of M with probability 1) and that all the other eigenvalues of $\mathbb{E}[M]$ are $a - b$, as claimed.

In the next lecture, we shall use these facts together with a matrix version of Bernstein's inequality to conclude the proof of Theorem 2.